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Name; Class: Date: ID: A Name: 1D: A
final review packet sem 1 2014-2015 g 3.1 _
—— 610
7 I 5 1
Multiple Choice 5 33 b 2T6 e 3 d 35
Identify the choice that best completes the statement or answers the question.
5.2
Write the fraction in simplest form. ‘ — % gtET
1 2 3
1 18 a 33' b 13 c 20 d. Fr
I 30
3 kX 4 2 Write as a decimal.
.3 b 16 ¢ 3 d 3
2 0. 32
2. [dentify the fraction that is equivalent to 7 — 75
. 8 ) s . 6 . 10 a. 04 b. 55 c 34 d 1.2
2_8 2 = 3 Write as a percent.
3. Write3-3-3-3-3-3 using an exponent,
a 33° b 3° ¢ 36 d ¢ — 1. 063
. : ) ' a. 0.063% b. 6.3% c. 630% d. 63%
4. ‘Which graph or graphs would be best for showing the depth of water in a pond over a period of time? 1
12. =
—_— 5
L i i a.  50% b. 5% ¢ W% d 2%
100 100
Find the perimeter of the Fgure,
50 75 b 13
. 3lcm
0 50
ABCD 6 97 9B 95 G0 18 cm
a ! b. L 1L, or Il c. 1l d Torll
25
s 5,8 _ : il
—_ T AT Drawing not o scale
13 2 1 1
i b 13 o 3 d 133 a 74cm b. 80cm c. 68em d $7cm
g B3 _ 14. Jan saved $1.00 from her first paycheck from her summer job. She saved $1.15 from her second paycheck
— 12 12 and $1.30 from her third paycheck. She kept to this pattern for ten weeks. How much money did she save
K] b 1 3 d 1 from her sixth paycheck?
L% ] “ % 1 a $190 b 5150 e $L73 d 5075
s 6 _1_ . 15. During the past month, you withdrew $22 from your savings account and then deposited $24. If your balance
— " 1037 at the end of the month is $120, how much did you have in your account at the beginning of the month?
2 b A 14 1 8. $166 b, $74 c. 118 d. $122
a. T i3 c. i d i
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Name:

.

38.

39,

40,

41.

42.

43

45.

46,

47,

1D: A
1f=-d+15
a 11 b. -4 c 4 d 6
_ 10+ z
2= -3
a. -4 b. -6 c 15 d -5
37~ 18+ 8w =67
[ ] b. 4 c. 7 d. 6
I+ 6) =130
a 3 h. 16 c 4 d. -16
x =
ri 05 =19 .
a. 16 b, Q.16 c 4 d 23
3p-1=35p -1 ~27-2p)
a 3 b. 0 c. -9 d -10
Bd-Ad-6d—-8=12d
a 0 b. -1 e -2 d —4

A customer went to a garden shop and bought some potting goil for $17.50 and 4 shrubs. The total bill was
$53.50. Write and solve an equation to find the price of each shrub.

a.  4p+517.50=1$53.50; p= $5.00 ¢ 4p+175p=85350,p=%2.49

b, 4{p+517.50)= $53.50; p= $4.00 d 4p+517.50 =853.50; p= 511,25

Steven wants to buy a $565 bicycle, Steven has no money saved, but will be able to deposit $30 into a
savings account when he receives his paycheck each Friday. However, before Steven can buy the bike, he
must give his sister $65 that he owes her. For how many weeks will Steven need to deposit money into his
savings account before he can pay back his sister and buy the bike?

a. 25 weeks b. 19 weeks c. 22 weeks d. 21 weeks

John and 2 friends are going out for pizza for lunch. They split one pizza and 3 farge drinks. The pizza cost
$14.00. After using a $7.00 gifi certificate, they spend a total of $12. 10. Write an equation to model this
situation, and find the cost of one large drink.

a. 3d+314.00-$7.00 =%$12,10; $1.70

b. 2d+$14.00 - $7.00 = $12,10; $2.55

c.  3d-314.00+$7.00=%$12.10; $9.55

d. 3d+$14.00 -%$7.00 = $12.10; $1.9¢

Find the measure of £x. (Hint: The sum of the measures of the angles in a triangle is 180°.)

Name:

48. a. Find the value of .

b, Find the value of the marked angles.

(da+ 12)°

(3a+3°

not drawn to scale

a.  22;100° b, 19;88° c. 20;92° d. 24,108

49. Find the unit rate for number of parts manufactured per hour if 1630 parts are made in 6 hours. Round to the

nearest integer,

a. 325 parts/h b. 272 parts/h c. 237 parte/h d. 281 perts/h
30. A car is driving at a speed of 60 mi/h. What is the speed of the car in feet per minute?
a. 5,280 f/min c. 316,800 f/min
b. 3,600 fiYmin d, 2,580 fi‘min
51, $7.80/hour=__ cents/minute?
a 13 b 88 c. 780 d 47
Solve the proportion.
wt+ld 3
52 dw+6 4
8 15 1% 2
T b 3% & d 3
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Name:

64.

65,

66.

67,

68,

69,

The formula v = «/ 644 gives the velocity v in feet per second of an object that has fallen 4 feet. Find the

velocity of an object that has fallen 76 feet. Round to the nearest hundredth.
a. 12.33 fifsec b, 69.74 fi/sec c. 4864 fi/sec d. 4932 ffsec

Find the length of the missing side. If necessary, round to the nearest tenth.

Use the Pythagorean Theorem

5 &

14

a. 361 b, 19 c. 38 d 149
Which number is a solution of the inequality?
b>113
a 15 b. % c. -4 d 4
62 6k
a 8 b, 18 c 2 d 1

Write the inequality in words.

In<3s2

a. fifty-two less than three times »

b.  Three times m is less than fifty-two,

c. Three times # is less than or equal to fifty-two.
d. ‘Three times » is greater than fifty-two.

Graph the inequality.
xz-3
a. pa ————t—t —
T s 40 20 123 48
b e pre—— 3
T .
S -4 3 201 3 34§
C g , —
€ - 1 —+—
S 4 3 i -1l 0 7 3 4 8
d o o . A
543 a3 o 01203 4 05 ¢

ID: A

Name:

70,

71,

72.

73,

Write an inequality for the graph,

N " I L
S 43201 23 405 7
1 1 1 1
a mS-—E b. m>—-2- c. mai d. m22

Tina can type at least 60 words per minute. Write and graph an inequality to model this situation,

a. t<60 c. >80
pi 1 } 1 I I Fa I + } + -
‘0 10 20 30 46 20 & 70 80 9% 100 110 10 20 3 40 50 60 70 20 o0 100 ||n’

o
b 1260 d. 1£60
I + 1 i L% prr— + + ¥ 1 TRY
0 1620 30 & 50 6 7 B0 S0 100110 Mo W0 20 30 4 0 & T % % W NO

Write an inequality to model the situation,

Thomas eamed $44 or more.
g (=44 b, 1544 e <44 d (24

Identify the graph of the inequality from the given description.

x is at least 4.5,

a +—— —+ ——t €. + >
(-?;:4734-ior:345 S A4 %210 1 2 3 4 8 °
b ' d o >
-5 4 -1 2 -1 6 1 2 3 o4 5 5 4 3 -2 -1 0 F 1 3 4 3
Solve the inequality. Then graph your solution.
r-1=s-9
=5
8, X5 T c. x<£-10
‘L; & + ' } + +
= A————+ + 01612 6 -4 0 4 B 12 16 2
-0 -16-12 -8 4 0 4 8 12 16 2
b x<10 d x<-8
i n n P " " n I i n n

METEER 0 4 B 12 16 0 ‘-ZO—IG-II-I -+ 0 4 8 52 16 W

m:; A
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Name: ID: A

87. The graph below shows how the cost of gasoline changes over one month. According to the graph, the cost of
gasoline decreases.

Cost —L’_
Time
a.  always b. sometimes ¢ never
88. A function is a relation.
a.  always b sometimes ¢ never

89. Identify the mapping diagram that represents the relation and determine whether the relation is a function.
{3-6.1.-60.5.-6), 3.}

a. c.

The relation is not a function,

The relation is a function. The relation is not a fimetion.

13

Naume;

ID: A

90.

9.

Identify the mapping diagram that represents the relation and determine whether the relation is a function.
[ca-6.050.080.0.9)

a.

The relation is a function.

The relation is not a function.

Evaluate f{x) = %x forx=4.

1 1
a, 13 b. B c

L]
a
L
(%)

14
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Name:

ID: A

Name:

Write a function rule for the table.

96,

S

14

-X

d 0

€. fixy=x+4

dx

b, fix)
97, Write a function rule that gives the total cost e(p) of p pounds of sugar if each

a flx)=x-4

pound costs $0.59,

p+ 059

lp) =

clp} = 39
c(p}

a

clp) = 0.55p

d.

£
0.59

b,

18

17
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Name:

11

112.

113.

114,

115,

State whether the slope is 0 or undefined.

¥

1

i

1

3

EREXE.
T
e

.

:

!

.
\
s
.
.
-
.

PRI .
H i H i
;
]
-
1
Y
;
;
;
1
7
i
1

_4
y—3x—3

4 A
a 3,3 b —3,3
ldx + 4y =124

26
& -

7
b, —5.6

ID; A Name:
‘Write the slope-intercept form of the equation for the line,
116. ¥
s
"'LH-.
EEEE R
undefined L )
a y=—gadg
_3
b. y= s + 3

4
T3 d 33
a1
76
14; 24

Write an equation of a line with the given slope and y-intercept.

m=1,6=4

g, y=dx+1

b, y=x-4

ko3

a. y=4x—%
1.3

b. y=gr i

o

21

2

A
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Name: ;A Name: A
Graph the equation. ‘Write an equation for the line that is parallel to the given line and that passes through the given point.
119, p+2=~fx—1) [22. y=-5x+3;(-6,3)
a. " c. 4. y=-5x+27 e y=5x-9
N ! b y=-5x-27 d y=-5:+9
f T Tell whether the lines for each pair of equations are parallel, perpendicular, or neither.
2 123, Tv—4y=4
2 - t x—dy=3
N P e s e - — Y ! a. perpendicular b. parallel c. neither
. _ 1
' § 124, y= 5% = 11
ol I 16— 8y =-8
” - ) VO T & neither b.  perpendicular ¢ parallel
b. M d ¥
]
. ; )
+ _ h 2
-2
) =l B BN 2_‘ b r A oA B l' ;
S PV N (0 U A R NS W

. 120, In February, you have a balance of $270 in your bank account. Each month you deposit 345. Let January =1,
February = 2, and so on, Write an equation for this situation. Use the equation to find the balance in June.
8. y-270=45(x-2); %450 c. y=45x-4), $i8¢
b, y=45(x-4), $270 d y-270=45x; 345

Are the graphs of the lines in the pair parallel? Explain.

121, y=%x+8

—2r+ 12y=-11

a.  Yes, since the slopes are the same and the y-intercepts are the same.
b. No, since the y-intercepts are different.

C.  Yes, since the slopes are the sare and the y-intercepts are different.
d, No, since the slopes are different.
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